
Soustraction Horizontale de Décimaux (H)

Calculez chaque différence.

41,47 − 5,5 = 499,59 − 66,123 =

176,598 − 4,7 = 94,8 − 6,6 =

34,25 − 1,8 = 217,61 − 3,919 =

788,2 − 4,9 = 728,864 − 4,7 =

497,5 − 5,99 = 982,3 − 177,9 =

755,657 − 3,68 = 821,08 − 35,6 =

680,808 − 315,3 = 912,566 − 2,84 =

5,6 − 5,3 = 590,91 − 47,91 =

6,70 − 3,36 = 736,253 − 7,2 =

67,1 − 5,7 = 576,728 − 151,1 =
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Soustraction Horizontale de Décimaux (H) Réponses

Calculez chaque différence.

41,47 − 5,5 = 35,97 499,59 − 66,123 = 433,467

176,598 − 4,7 = 171,898 94,8 − 6,6 = 88,2

34,25 − 1,8 = 32,45 217,61 − 3,919 = 213,691

788,2 − 4,9 = 783,3 728,864 − 4,7 = 724,164

497,5 − 5,99 = 491,51 982,3 − 177,9 = 804,4

755,657 − 3,68 = 751,977 821,08 − 35,6 = 785,48

680,808 − 315,3 = 365,508 912,566 − 2,84 = 909,726

5,6 − 5,3 = 0,3 590,91 − 47,91 = 543

6,70 − 3,36 = 3,34 736,253 − 7,2 = 729,053

67,1 − 5,7 = 61,4 576,728 − 151,1 = 425,628

MathsLibres.com


